EXP5

RER T
working electrode: Pt electrode

reference electrode: Ag/AgCl electrode

AN .

unknown no. : 2020

Ce(NH4)2(NO3)s: 2.7411 g

(1) & 4 Ce™ E 9 kA (v =] #) (Ce(NH,)2(NO3)s MW: 548.22 g/mole ) -
M=mole/¢
=(2.7411/548.22)/0.05¢ = 0. 1000 M

@tk -%Bt > F® E (mv)vsV (ml) 2 AE/AV (mv/iml) vsV (ml) -

Vv E INTIN Y E NE/AV v E ANE/AV
(ml) (mv) | (mv/ml) | (ml) | (mv) | (mv/ml) | (ml) | (mv) | (mv/ml)
1 349 14 438 4 27 1100 45
19 4 21
2 368 15 442 28 1121
11 4 12
3 379 16 446 29 1133
9 6 9
4 338 17 452 30 1142
7 4 6
5 395 18 456 31 1148
7 5 6
6 402 19 461 32 1154
5 5 4
7 407 20 466 33 1158
6 7
8 413 21 473
4 8
9 417 22 481
5 9
10 422 23 490
4 14
11 426 24 504
4 25
12 430 25 529
4 526
13 434 26 1055
L R SE RS ( 255 )ml
(4)«71] * N{Vi=N,V, ; f ﬁ'ﬁ‘ﬁ T [Fe+2]: ?27M o
Ce* + Fe**-» Ce®* + Fe** Fe** ->Fe**+e .. N=M

0.1000 x 25.5=N;x 20.0 (*~ 20.0ml 7§ =)
N>=0.1275M
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Pipette 20 ml of

Fe(NH4)2(SO4)2 solution into
a 250 ml beaker, add 150 ml
distilled water and 5 ml of
concentrated sulfuric acid.
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excel %4 72 (MK L 2ERTVEL )
A E C D E F G I I K L M I o
MEIAV
Viml) | E V (ml
i imly () Cml} (mvetml wf
2 1 340 1.5 19 |
3 o 68 55 11 (a) EvsV (b)AE/AV vV j;"
4 3 370 3.5 9 I
5 4 388 45 7 1200 600
6 5 305 5.5 7 Y
7 6 402 6.5 5
g 7 407 75 6 1200 |- ﬂ 500
9 3 413 4.5 4 /./—
10 9 417 a5 5 /
11 10 422 10.5 4 w000 | -[ -
12 11 426 1.5 4 — ) EREE 2 -
13 12 430 12,5 4 . Em SME
14 13 434 13.5 4 2 .
15 14 438 14,5 4 oo 1 %00
16 15 442 15.5 4 mEEE A
17 16 446 16.5 6
e == fe ot LIk B r oy
18 7] ase 1S 4 500 |- i ERLIFSERA)
19 13 456 18,5 5 T - = =FIR ~
= 53 ?J T<F :"x'--- i) I
o1 o0 466] o205 15 a00 | EmER(E)
22 21 21 215 9 HBIRIE -
23 20 490 20,5 14 g E
24 23 504 235 25 w0 [ T _ IS ERRE(QD) 4 Q III
o5 o4 500 4.5 506 (b) e,
26 25 1055 25.5 45 T FEZER) 4 HERIE
27 26| 1100 265 21 ; | . . . » l,4|§9ﬁ_;gg;§—.£. | 2B R
o8 o7 1121 7.5 10 . . ; - . s = —
20 o8 1131 8.5 1 v(ml) B EEH(P)
0 20 1142 20,5 6 -
3] BT 6 IBEEEER]
E?) 3] 1154 315 4
33 @l 1158
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